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HAILEYBURY

GENERAL MATHEMATICS F – UNIT 1

EXAMINATION 1 – FACTS, SKILLS AND APPLICATIONS
Term 2, 2004

Reading time: 15 minutes

 Writing time: 
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NAME:_______________________________________

Section A – Multiple-Choice. 
28 questions (Total 28 marks)
All questions are to be answered on the answer sheet provided.

All working should be done on the blank pages opposite the question.

An approved graphics calculator may be used.

Two A4 pages of prepared notes may be brought into this examination.

A formula sheet is provided.
Section B – Short Answer.
 6 questions (Total 26 marks)

All questions must be answered in the spaces provided.
Both question and answer booklets must be submitted at the conclusion of the examination.

Section A 

Multiple Choice Question Booklet
Applications of Arithmetic

Question 1

3 kg compared with 450 grams, in the simplest form is:

A. 60 : 9


B. 20 : 3


C. 1 : 150


D. 15 : 100 


E. 100 : 15
Question 2  
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, correct to one decimal place is: 

A. 3642.3 


B. 3642.2


C. 5.5


D. 5.4 


E. 128.7

Question 3

160 grams expressed as a percentage of 3.2 kg is:

A. 5% 


B. 2%


C. 5.12%


D. 5000% 


E. 5120%

Question 4
If the cost of four Maths textbooks is $164.52, then the price of a class set of 20 textbooks is:

A. $3290.40 


B. $732.60


C. $13161.60


D. $822.60 


E. $822

Question 5


Rounded off to 4 significant figures 62.938192 is:

A. 62.9381 


B. 62.9382

C. 62.93

D. 62.94

E. 6293
Question 6
The price of a jumper is $65 after it had been discounted by 15%. The original price was:

A. $9.60 


B. $93.60


C. $76.47

D. $83.00 


E. $55.25

Question 7
A recipe for pizza dough requires 3 parts wholemeal flour for each 4 parts of plain flour, by volume. The volume of wholemeal flour needed if 24 cups of plain flour are used is:

A. 42 cups 


B. 32 cups


C. 18 cups


D. 14 cups


E. 12 cups

Linear Relations and Equations

Question 8
The solution to the equation 6x – 5 = 7 is:

A. 
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B. x = 2


C. x =6


D. x = 12


E. x = 42

Question 9
The formula for calculating the volume of a cone is 
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, where r is the radius and h is the height. The volume of a cone, correct to one decimal place, that has a radius of 3.6 cm and height of 17.9 cm is:

A. 874.56cm3


B. 243cm3

C. 1207.9cm3

D. 242.8cm3

E. 242.9cm3
Question 10

The straight lines y = 2x + 1 and y = - 4x +7 intersect at the point:

A. (1 , 3)


B. (3 , 1)


C. (-1, 3)


D. (3, -1)


E. (1, 7)

Question 11
If 5(2x + 3) = 4(x – 2) then x equals:

A. 
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B. 
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C. 
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Question 12
The equation of a straight line with gradient 
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 and y-intercept of 5, is:

A.  
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D. 
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Question 13
The coordinates of P, shown on the Cartesian axes below are:
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A. (- 2, 3)


B. (-2, -3)

C. (- 3, 2)


D. (3, - 2)


E. (- 3, 4)

Question 14

The gradient of the line drawn below is: 
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A. 2

B. 1

C.  
[image: image17.wmf]1

2

 

D.  
[image: image18.wmf]–

 

1

2

 

E. –2

Statistics

For questions 15 to 17 consider the following table which shows the number of days of sick leave taken by fifty employees over a 4 week period.

	x (Days leave)
	0
	1
	2
	3
	4
	5
	6

	f (Frequency)
	10
	15
	12
	8
	3
	1
	1


Question 15

What is the total number of sick days taken by the employees over the 4 week period?

A. 6

B. 15

C. 21

D. 50

E. 86

Question 16

The mean value of x is:

A. 1.72


B. 1.92


C.  3.0


D.  3.5


E. 7.14

Question 17

The number of people who took more than three days sick leave is:

A. 3


B. 4


C. 5


D. 6


E. 13

Question 18

Consider the following box plot:
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Which one of the following statements is true?

A. The median is 45

B. Fewer than a quarter of the observations are below 30

C. Fewer than a quarter of the observations are more than 50

D. All the observations are less than 60

E. More than half of the observations are less than 30

Question 19

For which of the following is it appropriate to construct a scatter plot?

A. Private health and the location of the residence.

B. Two different brands of batteries and a measure of the life of the batteries.

C. A group of female pole vaulters and the height they cleared at the last competition.

D. Attitude to current government funding for education (For, against, no opinion) and sex (male or female).

E. The marks students obtained on two Maths exams, one held in semester 1 and one held in semester 2.

Question 20

For the scatter plot below, the equation line of best fit (by eye) would be closest to:


A.  y = x
       
B.  y = -2x + 18    


C. 
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E. 
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Question 21

For which of the scatter plots is the q-correlation closest to -1?

A.                                                            B.

                        •      •                       •  •

       •    •        •                  •    •     •

                •      •                             •    •

             •       •  •                   •       •     •

C.                                                           D.

                   •             •                       •  

         •        •                      •  •     •

                •      •                          •    •

E.  

                    •  •

              •   •     •

               •    •

         •  •  •

Sequences and Series

Question 22

Which of the following sequences is arithmetic?

A. 4, 8,13, 19, …

B. 2, -6, 10, -14, …

C. 12, 8, 4, 0, …

D. 16, 8, 4, 2, …

E. 0.01, 0.1, 1, 10, ….

Question 23

For the arithmetic sequence with a = 2 and d = 4,  t20  is:

A. 78

B. 82

C. 18

D. 42

E. 44

Question 24

Given the arithmetic sequence { 2, 5, 8, … , 89}, the number of terms in the sequence is:

A. 29

B. 28

C. 32

D. 31

E. 30

Question 25

Which of the following sequences is geometric?

A. 40, 20, 5, 1, …

B. - 4, -6, -8, -10, …

C. 20, 10, 5, 2.5, …

D. 4, 12, 48, 240,  …

E. 0.01, 0.1, 5, 50, …

Question 26

If the first term of a geometric sequence is 50 and the common ratio is 
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, then the twentieth term is closest to:

A. 0.576

B. 0.014

C. 0.012

D. 0.721

E. 0.856

Question 27

For the geometric series given by 4+8+16 + … ,  S14 is: 

A. 32764

B. 32765

C. 50500

D. 65532

E. 65535

Question 28

For the infinite geometric series 27 + 9 + 3 + 1+ … the sum to infinity, 
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 is:

A. 40

B. 40.5

C. 4.5

D. 26.67

E. 45
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